N = 0l & At & Ml A

20184 = 204 St At &I
AN dot=SAFE A
M BIota=TAIE X L 22
©el: st=E AlZ22 (St AtY) (Sl & &)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AotrS ALE A 2,397,000 1,915,572 481,428
3ot Ad X & 2el 2,397,000 1,915,572 481,428
Sta== AA 22 (StZALY) 29,880 21,380 8,500
St=& AlE 22 29,880 21,380 8,500
201 L2l 22,200 13,700 8,500
01 At 22l 19,500 11,000 8,500
Odt=& AIE1DRXMN & =8 K7
100& *5,00000 x12& 6,000
Odt=& AEE HEINE 7O
100& *5,0000H 23| 1,000
Oot=ER= & E2= MH
500& *20,000& 10,000
Oft4+E 28X 282, Hg= 2
100,000& » 13| 5% 500
Odt=& HIA&Z2RRF SA4Hl 2,000,000 2,000
02 =224l 2,700 2,700 0
Ogt3ot==& 3l 3l 2,700,000& 13 2,700
202 o4dl 7,680 7,680 0
01 = LH o4 1l 7,680 7,680 0
Oft4+E ME U B2
20,000 «4H 82«12 7,680
St AIEINE (St ALY) 659,127 659,716 A 589
ot=% AlE Y 659,127 659,716 A 589
TAIEHI &2 659,127 659,716 A 589
01 A& HI 655,000 655,000 0
Odt=ZAld SA2eHE 2 Mol 22
- 500,000,000 =14 500,000
Odt=HMeld & 22 &4
16,000 *15,000m*1/4 60,000
Odt=& HESFH FANE 2 202l o
150, 000& * 15001 22| 45,000
OZ33dt=HMelH N2 RANES
50,000,000& =14 50,000
03 AlE 2 THHI 4,127 4,716 A 589
Odt=S AEMEAY 655,000,000& *0.63% 4,127
olulbl 22l (ot S ALY ) (St =S ALY ) 1,707,993 1,234,476 473,517
oldigl 2 el (sh== Abe) 1,707,993 1,234,476 473,517
801 Gl HIbI 1,707,993 1,234,476 473,517
1 EHoil gl g 1,707,993 1,234,476 473,517
oolglgl 1,707,993,000& 1,707,993




